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Lesson: Orders of Operations

BEDMAS is an acronym we can use to remember the order

in which mathematical operations are to be performed.

Example 1: 4—(5-6)= {4 -(-l)

Example 2: (3—6)+ (9—-10)+(24-4) = (-5)
=) () 10) -9

= % (-Y4)

BEDMAS

B — Brackets
E — Exponents

D — Division
M — Multiplication *

A — Addition
S — Subtraction **

*division & multiplication in the order they
appear from left to right

**addition & subtraction in the order they
appear from left to right

Example 3: 12 —[18 — (1) * + 3]
=19 _.((g_(u)»r'ﬁ)

:[Q. - ('?‘- l +3)
—12-(29
=(2-20

_E7]

Example 4: 32 + [16 x (-2)] + 20 — (4% + 3)
=32 - (—3z)+20-(ls+3)
222:(-32) + 20-019)

N\ —

Let’s Recap a Little About Exponents...

ex'o'onen-k ( ioouhcr)

q

PuZ2 2 u2= 2

£~ _base
Complete the following chart:

Power Expanded (meaning) Base Exponent | Value
2° 2X2x%2 2 2 S
DDA | (-3) 5| -2y3
9> AxDdx3 3 3 27
(@-Ej 0.6 x0.6x0.6 0.4 2 O.21b
(-q)" | D= (-9) R E 3

2y 2\x (2 \x(X 2 E) 3
[Ej (’5>x(5-) (‘?) 5 s
(-1y -Ox (-0 (- J) 2 +
- -1 x4 -4 2 ~|
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Practice: Order of Operations

a.3-4)+5 = (..|)+9-

b. (-4 +7) — (2° + 2) + (+3)

::('3) -(tl'-l-l)—(‘g)

_(3)-(e)+0)
=2 -(2)

-]

c.3-2(3°-7)x4+2

=3-2(‘I~?-)xq -2

=2-2(2)x4 +2
= ?)_ ua-'-’L
~2-%

=l

d. -8 + (-2) — (-3)

=) +(3)

e.2(4-77°+5x2
=2(-3) +lo
—2(-Btlo
= [§+o

757]

- -

. B3 -7(6)+9
-3

1€ — 42 +9
-3
- =5
-3

E]

~ Al
g.6 !: 12 + (-3) +2

o+ 4+

_ﬁ{f

- (9)E) -2
(-8)(2)

:"30'1
-t
- —232

—_— —

e

Answers: a. 4xb. 1,¢. -5,d. 7,8, 28, {. 5,\g\.l 12 h. 2
o 0 ~J N ~J

Complete: Appendix C: Course Intro Homework p.4
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